

10月27日

e math. 2015

$$\begin{cases} g_1(x, y, z) = x + y + z = 0 & \text{--- ①} \\ g_2(x, y, z) = x + 2y + 3z - 1 = 0 & \text{--- ②} \end{cases}$$

かつ

$$w = f(x, y, z) = x^2 + y^2 + z^2$$

$\Sigma$  上を

Lagrange の不定乗数法 (= F')

$$\nabla f + \lambda_1 \nabla g_1 + \lambda_2 \nabla g_2 = \vec{0}$$

すなわち

$$\begin{pmatrix} 2x \\ 2y \\ 2z \end{pmatrix} + \lambda_1 \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix} + \lambda_2 \begin{pmatrix} 1 \\ 2 \\ 3 \end{pmatrix} = \vec{0}$$

$\Sigma \stackrel{F'}{=} \{ (x, y, z) \mid \exists \lambda_1, \lambda_2 \in \mathbb{R} \text{ かつ } \nabla f + \lambda_1 \nabla g_1 + \lambda_2 \nabla g_2 = \vec{0} \}$

$$\begin{pmatrix} x & 1 & 1 \\ y & 1 & 2 \\ z & 1 & 3 \end{pmatrix} \begin{pmatrix} \lambda_1 \\ \lambda_2 \end{pmatrix} = \vec{0} \quad \dots \text{--- ④}$$

と ④ 3 行  $\begin{pmatrix} \lambda_1 \\ \lambda_2 \end{pmatrix} \neq \vec{0}$  かつ

$$\begin{aligned} 0 &= \begin{vmatrix} x & 1 & 1 \\ y & 1 & 2 \\ z & 1 & 3 \end{vmatrix} = \begin{vmatrix} x & 1 & 1 \\ y-x & 0 & 1 \\ z-x & 0 & 2 \end{vmatrix} = - \begin{vmatrix} y-x & 1 \\ z-x & 2 \end{vmatrix} \\ &= x - 2y + z \quad \dots \text{--- ③} \end{aligned}$$

かつ  $x, y, z$  と  $\tau_i$  3. ① かつ ② かつ ③ 12

$$\left( \begin{array}{ccc|c} 1 & 1 & 1 & 0 \\ 1 & 2 & 3 & 1 \\ 1 & -2 & 1 & 0 \end{array} \right) \rightarrow \dots \rightarrow \left( \begin{array}{ccc|c} 1 & 0 & 0 & -\frac{1}{2} \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & \frac{1}{2} \end{array} \right)$$

F')  $x = -\frac{1}{2}, y = 0, z = \frac{1}{2}$  と  $\tau_i$  3.  $\therefore a \in \Sigma$ . (F') F')

$$\begin{cases} -1 + \lambda_1 + \lambda_2 = 0 \\ 0 + \lambda_1 + 2\lambda_2 = 0 \end{cases}$$

$\Sigma \ni \frac{\pi}{15}$  であるから  $\lambda_1 = 2, \lambda_2 = -1$  であるから (##) の  
 条件を  $\Sigma \ni \frac{\pi}{15}$  である。  $\frac{1}{\sqrt{5}}$

$$1 + 2 + 3(-1) = 0$$

である。